ZAEDNHhT Ot v X —[ENS 2025498300
SMTEE
[ElNE 48 5A 6 A 7H 8 A 9A
B EUR = () | EUNE (kg) |ERRE(R) | EIURE (kg) |EUN=R8(R) | EUNE (kg) |EUNRE(R) | EIUE (kg) |EUNRE(R) | EUNE (kg) |EUR A2 (R) | EUE (kg)
i 36 7.46 2 0.28 24 5.08 22 5.24 43 11.98 10 1.96
AV ARRY
Las 63 7.6 59 3.7 99 15.18 39 4.58 101 18.44 101 11.8
ErZ ) 20 4.92 12 3.52 56 12.44 2.36 20 9.34 46 4.62
BELT o 15 2.24 4 0.08 8 1.56 0.86 11 1.22 0.86
B 19 15.02 0.9 4 1.22 19 5 45 10.06 3.76
FBRRL 18 7.04 11 4.62 42 11.94 23 4.82 85 35.38 43 13.96
BETF 381 53.56 340 58.6 378 53.22 387 59.54 419 51.34 350 53.94
Z D 10 6.18 2 2.2 34 22.7 3 0.5 11 3.82 12 29.86
B 562 104.02 431 73.9 645 123.34 501 82.9 735 141.58 575 120.76
A A 27 12 29 16 20 22
ENNE 10A8 1148 1248 1A 2 A 3 A =
m B EUR = (=) | BEUNE (kg) |EUS#(R) | EURE (kg) |EUNa#(=) | BIUNE (kg) [EMEE(R) | EUE (kg) |EUNS#(=R) | EUXE (k) |EUNa#(R) | BEIUNE (kg) (EMX S (R)| EUXE (kg)
& 137 32.00
AVARRY
Laa, 462 61.30
Er&7)] 159 37.20
LTS 46 6.82
/e 96 35.96
FBREL 222 77.76
BEF 2,255 330.20
Z Dfth 72 65.26
&5t 0 0 0 0 0 0 0 0 0 0 0 0 3,449 646.50
FRAANEL 0 0 0 0 0 0 126




A b—=3—H F=TVFBEAEERID 2025497308
SHTEE
[EiXE 4 A 5A4 6 A 7H 8 A 9A
am H BN S () | ERE (kg) |ERRE(R) | BEUXE (kg) [EUR=#E(R) | EURE (kg) |EUR=E (=) | EUNE (kg) [EUR=#(R) | BEURE (k) [EUR=% (=) | EURE (kg)
i 22 5.96 6 0.88 6 1.28 0 0 20 3.3 0 0
L REY
as 20 2.74 11 2.02 5 0.98 3 0.54 10 2.42 14 1.94
Er&7)| 0 3 7.24 61 17.62 5 16.46 5 5.64 8 0.4
FELF i 0 3 0.46 0 0 0 0 6 0.22 0
B 22 6.88 6 1.6 7 2.88 3 1 18 3.4 2.92
TR 4 0.58 13 2.8 29 2.82 0 0 13 4.62 11 1.74
BEF 26 2.82 0 4 0.3 7 1.38 40 4.32 30 0.86
Z Dt 0 0 0 0 0 0 0 0 0 0 0
= 94 18.98 42 15 112 25.88 18 19.38 112 23.92 72 7.86
BN E 10A 11A 12A8 1A 2A 3R =
an B EUR 3 (R) | [EUNE (kg) |EURA#(H) | EURE (kg) |EURSE(R) | EUE (kg) [EURS#(R) | EUNE (kg) |EURR#(S) | EURE (kg) [EURSEK(R) | EUE (kg) [EUR=#(R) | EUNE (kg)
i 54 11.42
oAz 63 10.64
B
2 82 47.36
=g 9 0.68
B 65 18.68
TR 70 12.56
BEF 107 9.68
Z Dt 0 0.00
= 0 0 0 0 0 0 0 0 0 0 0 0 450 111.02




A4 F—3—h F—/NEERIS 2025497308
SHTEE
[EiXE 4 A 5A4 6 A 7H 8 A 9A
am H BN S () | ERE (kg) |ERRE(R) | BEUXE (kg) [EUR=#E(R) | EURE (kg) |EUR=E (=) | EUNE (kg) [EUR=#(R) | BEURE (k) [EUR=% (=) | EURE (kg)
i 1 0.1 0 0 3 0.5 0 0 81 7.6 0 0
L REY
16 1.7 8 5 12 1.2 8 1 44 4.6 30 9
RS
Er&7)| 17 2.8 0 0 0 0 11 1.8 44 16 5 2.5
FELF i 0 0 0 0 0 0 8 0.1 0 0 0 0
B 20 6 18 7.5 8 2.5 1 0.3 0 0 50 25
TR 4 0.1 0 0 4 0.6 0 0 2 0.5 6 4
BEF 4 0.3 0 0 1 0.2 12 3.3 0 0 9 3
Z Dt 0 0 0 0 0 0 0 0 0 1
= 62 11 26 12.5 28 5 40 6.5 171 28.7 102 44.5
BN E 10A 11A 12A8 1A 2A 3R =
an B EUR 3 (R) | [EUNE (kg) |EURA#(H) | EURE (kg) |EURSE(R) | EUE (kg) [EURS#(R) | EUNE (kg) |EURR#(S) | EURE (kg) [EURSEK(R) | EUE (kg) [EUR=#(R) | EUNE (kg)
i 85 8.20
Tz 118 22.50
B
2 77 23.10
=g 8 0.10
Rkl 97 41.30
TR 16 5.20
BEF 26 6.80
Z Dt 2 1.00
= 0 0 0 0 0 0 0 0 0 0 0 0 429 108.2
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